
Snow Accumulation Snowmelt Rising Snowmelt Receding Baseflow

LN (Q), m3 s-1

y = -2.28x - 99.6
R² = 0.45, p < 0.05
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y = 2.06x - 85.4
R² = 0.32, p < 0.05
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y = -4.22x - 93.1
R² = 0.67, p < 0.05
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y = -4.38x - 85.5
R² = 0.89, p < 0.05
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y = -8.23x - 60.0
R² = 0.74, p < 0.05
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y = -5.95x - 88.5
R² = 0.66, p < 0.05
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y = -6.39x - 78.4
R² = 0.66, p < 0.05
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y = 1.72x - 103.36
R² = 0.09, p > 0.05
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y = -3.49x - 96.9
R² = 0.82, p < 0.05
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y = -3.24x - 92.7
R² = 0.91, p < 0.05

Pohono Bridge

y = -3.89x - 85.3
R² = 0.86, p < 0.05

-1 0 1 2 3 4 5

Briceburg

δ2
H

,‰


